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18. Individuals A and B both produce good X. We say that A has a comparative advantage in the
production of good X if A
A)  has a lower opportunity cost of producing good X than has B.

B) has a lower opportunity cost of producing good X than of producing good ¥.

‘1' C) can produce more units of X in a given time period than can B.

1 ’ D) can produce X using newer technology than can B.

;1 19. Suppose Clem’s Chemical Company wants to increase total revenue, If there are few substitutes
" for Clem’s Chemnicals,

A) Clem should increase the price of his chemicals.

B) Clem should decrease the price of his chemisals.

C) the demand for chemicals is elastic.

D} Clem will not be able to change the price of his chemicals.

20. Suppose the loczl government places a sales tax on hotel rooms and that the demand for these
rooms is elastic while the supply is perfectly inelastic. The tax wili be paid by
A} the consumer only.
B) equally by the consumer and the producer.
C) the producer only.
D) the taxpayer.

21. Sem can spend an hour of his time either working or staying borne and watching his favorite

television show, “Gilligan’s Island.” If Sem’s wage Tate increasas, the

A) substitution effect would induce Sam to work less and spend more time watching
“Gilligan’s Island.”

B) income effect would induce Sam to work less and spend more time watching
“Gilligan’s Island.”

C) income effect would induce Sam to work more and spend Tess time watching
“Gilligan’s Island.”

D) Both answers A and C are corect.
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22. Greg, a landscaper, is planning on opening his own landscaping company, He currently earns
$40,000 per year working for his uncle. He plans to use $10,000 in savings to pay for the
equipmert he needs, though even after use he could sell the equipruent for what he paid, $10,000.
The cwrent interest rate on savings is 5 perceni. What is total implicit cost incurred by Greg when
he opens his own business?

A) $10,000
B} $40,500
C) 40,000
D) $50,000

23. Homer's Holesome Donuts has determined that its profit-maximizing quantity is 10,000 donuts per
year. Homer’s earns $12,000 in revenue from the sale of those donuts. Homers has two costs.
First he pays $16,000 ir annual rental payments for its five-year lease on its store. Second Homer
incurs an additional cost of $5,000 for ingredients. Should Homer’s shut down in the short run?

A} Yes, because he is earning an economic loss.

B} Yes, because he carmot cover all of his fixed costs.
C) No, because is earning positive economic profit.
D) No, because he can cover all of his variable costs,

24. Sheila’s Sports Shop is a very popular sporting goods store, which has a yearly revenue of
$600,000. Sheila runs the business herself. Her alternative employment options are to be a college
swimming coach for $50,000 per vear or a construction worker for $40,000 per vear. Sheila spends
$230,000 purchasing goods for resale to her customers, She also has four employees, who each
eam $25,000 per year. Sheila owns the building that her Sports Shop is housed in—she remodeled
a house that she owns and that she could have rented out for $20,000 per year instead. Sheila’s
implicit costs equal
A} §70,000 per year.

B) $90,000 per year.
C) $110,000 per year.
D) $330,000 per year.

25. Monopolies can eam an economie profit in the long run because of
A) rent seeking by competitors.
B) the elastic demand for the monopoly’s product.
C) the cost-savings gained by the monopoly.
ID) barriers to enter the monopoly’s market.

26. Which of the following is NOT necessary for a monopoly to increase its economic profit by
discriminating among groups of buyers?
A) The firm must be able to separate different buyer types.
B) The firm must be able to identify each individual consumer’s precise willingness to
pay.
C) Each group of buyers must have a different average willingness to pay.
D) Resale of the product is difficuit or unlikely.

27. Which of the following statements about the elasticity of the demand for lebor is corect?
A) The demand for labor is more elastic in the short-run as opposed to long-run.
B) The demand for labor is more elastic when capital can be easily substituted for labor.
C) The demand for labor is more elastic when the elasti city of demand for the good is
perfectly inelastic.

D) The demand for labor is more elastic when the production process 11ses more capital
and less labor,

28. Private markets will not provide the efficient quantity of a public zood because
A) of the freerider problem.

B) one person’s consumption does not limit another person’s consurnption.

C) itis hard to prevent a person from receiving the benefits of a public good even if the
person did not pay for the good,
D) All of the above answers are correct.
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29, Public goods tend fo be
A) under provided by the private market because the marginal cost of production is oo
high.
B) under provided by the private market because the marginal benefits of consumption
are too low.
C) under provided by the private market because people’s willingness to pay for the
good is less than the marginal benefit of the good.
i D) over provided by the private market because the marginal benefits of consumption are
! too high.

30. Both firm A and firm B emit 300 tons of poliution. Suppose both firm A and firm B have
marketable permits that aliow each t¢ emit 100 tons of pollution, If it cosis $5,000 for firm A to
eliminate 100 tons of pollution and it costs firm B $6,000 to eliminate 100 tons of pollution, then
A) firm B will sell its permits to firm A for a price above $6,000,

B) firm A will sell its permiits to firm B for a price below $6,000.
C) firm A will sell its permits to firm B for 2 price above $6,000.
D) firm B will sell its permits to firm A for a price below $6,000.

Fotp: HEMTE - A 102

1. Suppose in PC market, there are 10 consumers and 5 procucers. Every consumer has
the same individual demand curve: g = 1 — 0.2 p, and every producer has the same
supply curve: g; = 0.4 + 0.4 p. Please answer the following questions,

(a) Derive the market demand and supply curve. (4%)
(b) In equilibrium, what is the market price and quantity demanded? (4%)
(¢} In equilibrium, calculate the tota! consumer surplus. (2%)
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1. Administrative man {473 A.)

2. Goals displacement { B2 4% £ )

3. Hawthorne effect (F &2 /8)

4. Closed systems (5B & 4.)

5. Matrix structure (45 M2 4524 )

6. Ideal-type bureaucracy (248 %! & g a 4% )
7. Expert power ( 25 #)

8. Self-actualization {( 8 #F#H)

9. Contingency theory (3 #322)

10. Escalation of comunitment (/&2 483%)
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1. Find dy/dx where

i y=ul-u)® and y=
y=u(l-u) 2

il y=+yx+vx
iif. xsin y + ysinx =1

iv. y=sinxcos®x (20%)

2. Sketch the graph of the function S =(x+ 3)\/; , indicating the extrema,

inflection points, increasing and decreasing intervals, and asympiotic lines. (15%)

- 2 4 d_ . 4
3. Evaluate the following 1. [CXt® 4 F=a i [

Jx N I¥2x 1

iv. Ix3\/]—x2dx V. sz4 dx Vi I

x +4 Jl x
vii , Find the average value of f (x) vx+1,[0, 3] . a tBS%)
4 FmdﬂleTaylorsenes of flx)=e* at a=0 T ao%)

e iy Inn %) 10%)
43" x-m xInx
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5 Determine if the following are convergent. 1.
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A national survey found that 64% of supermarket shoppers
believed that beef from all countries are equally good in terms
of quality. A company that sells New Zealand beef asked 100
supermarket shoppers in Kaohsiung whether they believed that
New Zealand beef was as good as beef from other countries.

52 of the shoppers answered yes. Please use a .05 level of
significance to test Hy: p = .64 and Hiip<.64.[ £ 15 )




Hi?&k%QB%#E%%ﬂ%i%ﬁﬁ%

BRI ZL [aFmmtsca] *3F B>H

4. The label on a milk bottle claims that the milk contains an
average of one gram of A-protein or more. A-protein has
been proven to be good for the health of babies. What are
the Type I and Type II errors in this situation? What are the

consequences of making these errors? Can you make these
errors at the same time? [ &K% 20 4 )
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A) FHFimE

B) t-test

C) F-test

D) s &

E) % % 4 M (rank correlation)
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x ] 900 | 800 | 600 | 650 | 300 | 350 | 400 | 700 | 950 | 700
vy | 90 | 60 | 45 | 70 | 30 | 40 | 50 | 55 | 85 | 75
X | 800 | 750 | 500 | 300 | 250 | 700 | 600 | 450 | 250 | 200
y 1 90 | 70 | 60 | 40 | 25 |65 | 60 | 50 | 35 | 34
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2. Knowledge-based economy
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